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gpupT 01 
tpil 01 

1. (a) 

1.1. 

 

1.2. 

 

1.3. 

 

1.4. 

 

1.5. 

 

(2 x 5 = 10 Gs;spfs;) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Relevant Learning Outcome/s: 3.1.2 

rupahd tpil : B 

Relevant Learning Outcome/s: 4.1.2 

rupahd tpil : C 

Relevant Learning Outcome/s: 4.5.1 

rupahd tpil : C 

Relevant Learning Outcome/s: 3.1.5 

rupahd tpil : C 

Relevant Learning Outcome/s: 5.2.2 

rupahd tpil : B 
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1. (b) 

 

1.6. 

 

 1.7 

 

1.8. 

Relevant Learning Outcome/s: 1.1.2 

 Neh;tupfs; tupnrYj;JNthuhy; Neubahf murhq;fj;jpw;F nrYj;jg;gLk;. Neupy; 
tupfs; tuptpjpf;fg;gLgth; my;yhj xUtuhy; Nrfupf;fg;gLtjhFk;. 

 
 Neh; tupapy; tupr;Rik NtnwhUtUf;F Rkj;jg;gl KbahJ. Neupy; tupahapd; 

tupr;Rik ,Wjp Efh;NthUf;F Rkj;jg;glf; $baJ.  
 

 jd;dhh;t xj;jpirT (voluntary compliance) ,Ue;jhyd;wp Neh;tupfspd; Nrfupg;Gf; 
fpuak; mjpfkhFk;. Neupy; tupfspd; Nrfupg;Gf; fpuak; FiwthdjhFk;.   

 
 nghJthf Neh; tupfs; tsh;r;rpKiw  (progressive) tupfshf cs;sJld; Neupy; 

tupfs; Fiwtile;J nry;Yk; jhf;fk; (regressive impact) cilaitahFk;. 
 

Relevant Learning Outcome/s: 2.3.1    

thlifapypUe;J rl;lepajp tUkhdk;             =  2,000,000 

$l;L: gps;isapd; tUkhdk;                              =     595,000     

nkhj;j $l;ba rl;lepajp tUkhdk;                =  2,595,000    

fop: tl;b                                                                =   (124,000)   

tupkjpg;G tUkhdk;                                             =  2,471,000         

fop: jifikf; nfhLg;gdT  

jdpg;gl;l tpyf;nfy;iy                                       = (500,000)    

tuptpjp tUkhdk;                                                 = 1,971,000    
 

Relevant Learning Outcome/s:  5.1.2 

Compute tax payable for a given straightforward, non-complex scenario. 

nkhj;jtoq;fy;fs;                        =  4,200,000   

fop: tpyf;fspf;fg;gl;l toq;fy;fs;            =  (500,000) 
tupaplw;jF toq;fy;fs;                                 =   3,700,000 

 

ntspaPl;L tup            3,700,000 @ 15%                      =     555,000 

fop: cs;sPl;L tup                                                            =    (320,000) 

nrYj;jNtz;ba ngWkjp Nrh; tup           =      235,000 
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1.9. 

 

 

1.10. 

(2 x 5 = nkhj;jk;: 10 Gs;spfs;) 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

Relevant Learning Outcome/s: 4.2.1 

 ve;jnthU tupkjpg;ghz;bw;Fk; nrYj;jNtz;ba tupia nrYj;jhik.  

 cupa njhiff;F Fiwthf tup nrYj;jpapUj;jy;.  

 

Relevant Learning Outcome/s: 5.2.4 

       (i)         2017 ngg;utup 20e; jpfjp my;yJ mjw;F Kd;      

                    2017 khh;r; 20e; jpfjp my;yJ mjw;F Kd;      

                    2017 Vg;uy; 20e; jpfjp my;yJ mjw;F Kd;      

 

(ii) jpul;L  2017 Vg;uy; 20e; jpfjp my;yJ mjw;F Kd; rkh;g;gpf;fg;gl 

Ntz;Lk;.                                        
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gpupT 2 

tpil 02 

(nkhj;jk;: 10 Gs;spfs;) 

Relevant Learning Outcome/s: 3.1 

tiuaWf;fg;gl;l CS Nth;f;]; (jdp) fk;gdpapd tupkjpg;ghz;L 2016/17 f;fhd 
tUkhd tupf; fzpg;gPL  

 + - 
fzf;Ffspd;gb epfu ,yhgk;    111,649,750   
fop:   Ntwhf fzf;fpw;nfhs;sg;gLk; Vida 
%yfq;fspypUe;J tUkhdk;           
epfu tl;b tUkhdk;       1,125,000  
gq;fpyhgk;    392,400  
$l;L / fop: mDkjpf;fg;glhj / mDkjpf;fg;gl;l 
nryTfs;:   
ngWkhdj; Nja;T  8,254,650   
Nja;khd tpLnjhif (%yjdg; gb)          170,000  
gzpf;nfhil Vw;ghL    24,435,000   
nrYj;jpa gzpf;nfhil     2,500,000  
md;gspg;G          750,000   
 145,089,400     4,187,400  
tpahghuj;jpypUe;J nrk;ikahf;fpa ,yhgk;     140,902,000  
$l;L: Vida tUkhd %yq;fs;                 
tl;b tUkhdk;           
nkhj;j tl;b   (1,125,000 x (100/90) )                         1,250,000  
gpbj;J itj;jy; tup fopf;fg;gl;ljdhy; gq;fpyhgk; 
thpkjpg;G tUkhdj;jpd; gFjpahfhJ                   -    
nkhj;j rl;lepajp tUkhdk;    142,152,000  
fop: rl;lepajpf; fopg;gdTfs;                           -    
tupkjpg;G tUkhdk;    142,152,000  
fop: jifikf; nfhLg;gdTfs;   
mq;fPfupf;fg;gl;l mwf;nfhilf;F md;gspg;G 750,000  
tupkjpg;G tUkhdj;jpd; 1/5  28,430,400  
my;yJ &gh 500,000  ,y; Fiwe;j njhiff;F 
kl;Lg;gLj;jg;gl;lJ 500,000        
  (500,000) 
tuptpjp tUkhdk;  141,652,000  
tupg; gupg;G:   
tpahghu tUkhdk; -140,902,000 ×  12%                16,908,240 
tl;b tUkhdk;-(1,250,000 – 500,000) = 750,000 *28%  210,000 
  17,118,240 
fop: Vw;fdNt mwtpl;l tupfs; -tax credits         
ESC – nghUshjhu Nritf; fl;lzk;  (1,632,160) 
ngaustpyhd tup tuT      (125,000) 
nrYj;jNtz;ba kPjp tup           15,361,080  
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gpupT 3 
tpil 03 

 

jpU nrdtpuj;d tupkjpg;ghz;L 2016/17 f;F nrYj;jNtz;ba tUkhd tupf; 
fzpg;gPL  

njhopy; tUkhdk;           
 

&gh 
Xa;{jpak; tpyf;fspg;G 

 rk;gsk; – 200,000 x 12              
 

2,400,000  
cgfhuf; nfhLg;gdT 

 
   200,000  

Nkhl;lhh; thfdj;jpw;fhd gad; ngWkjp (50,000*12) 600,000  
xU thfd jdpg;gl;l ghtidg; ngWkjp  tpyf;fspg;G 

 kidtpapd; kPsr;nrYj;jpa itj;jpaf; fl;lzk;  
 

        175,000  
ntspehl;Lg; gapw;rp tuptpjpg;gpy;iy 

 
   njhopypypUe;J rl;lepajp tUkhdk;    

 
  2,775,000  

   Mjd tUkhdk; 
  ENfnfhl Mjd epfu Mz;Lg; ngWkjp       
  =(Nrhiytup kjpg;gPL – mjd; 25%)  

1,200,000- 300,000=900,000  
  

   fSj;jiw Mjd epfu Mz;Lg; ngWkjp       
  =(Nrhiytup kjpg;gPL – mjd; 25%) 400,000- 100,000 = 

300,000  
 

         300,000  
xU tPl;bd; epfu Mz;Lg; ngWkjp tpyf;fspf;fg;gl;lJ.  

  
   KjyPLfspypUe;J tUkhdk;                                

  epiyahd itg;gpypUe;J – rpNul;l gpuirfSf;F tpyf;F tpyf;fspg;G 
 gq;Ffs; tpw;gid kPjhd ,yhgk; –  tpyf;fspg;G 
 

   myF ek;gpf;if epjpaj;jpypUe;J ngw;w gq;fpyhgk;   tpyf;fspg;G  
 epuw;gLj;jpa fk;gdpapypUe;J ngw;w epfu gq;fpyhgk;   ,Wjpahd tup 
 

   tpahghu tUkhdk;       
  fzf;Ffspd;gb epfu ,yhgk;      1,184,500  

 $l;L/( fop):             
  Nghl;Nlhf;nfhg;gp ve;jpu tpw;gid el;lk;       65,000  

 Vl;Lj; Nja;khdk;    636,000  
 Nghl;Nlhf;nfhg;gp ve;jpu tpw;gidkPJ tuptpjp ,yhgk; 

  tpw;gidg; ngWtdT                            250,000       
   fop: tupf;fhd Vl;lg; ngWkjp (Tax W.D.V). 

 fpuak;                         600,000       
   tupj; Nja;khdk;   (400,000)            (200,000)       
   tup ,yhgk;                                                50,000               50,000  

 md;gspg;G          100,000  
 

Relevant Learning Outcome/s: 2.2./ 2.3./ 2.4. 
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nrk;ikahf;fpa tpahghu ,yhgk; 
 

    2,035,500  
nkhj;j rl;lepajp tUkhdk;          

 
5,110,500  

fop: gpupT 32 ,d;fPo; fopg;gdTfs;                   
  Kd;nfhz;Lte;j el;lk;     1,350,000  

 NfhupaJ–  
njhopy; tUkhdk; jtph;e;j nkhj;j rl;lepajp 
tUkhdj;jpd; 35% f;F kl;Lg;gLj;jg;gl;lJ.       (817,425)       (817,425) 
fPo;f; nfhz;Lnrd;w el;lk;          532,575  

 
  

____________ 
tupkjpg;G tUkhdk; 

 
     4,293,075  

  
fop: jifikf; nfhLg;gdTfs;:-       

  njhopy;tUkhdk; kPjhd jifikf; nfhLg;gdT 
 

(250,000) 
Vq;fSf;fhf ehk; epjpaj;jpw;F mdgspg;G  -  100% 
mDkjpf;fg;gl;lJ          

 
(100,000) 

jdpg;gl;l nryTg; gb 
 

(500,000) 
(njhopy; tUkhdj;jpypUe;J vJTk; fopf;fg;glyhfhJ. vdpDk; ,q;F 
mtUf;F gpw tUkhd %yq;fs; cs;sd) _____________ 
tuptpjp tUkhdk; 

 
3,443,075  

   KjyhtJ  500,000  @   4%  =   20,000                                 20,000  
 mLj;j     500,000  @  8%    =  40,000         40,000  
 mLj;j     500,000 @ 12%   =   60,000            60,000  
 tpahghu tUkhdk; (gpupT 59B)      (2,035,500-(817,425- 

300,00) -100,000)= 1,418,075@12% =           170,169  
 vQ;rpa 525,000 @ 16%              84,000  
 nrYj;jNtz;ba nkhj;j tUkhdtup     

 
         374,169  

fop:  tup tpLiffs;;                   
        Rakjpg;gPl;bd;fPo; nrYj;jpa tup 
 

     (100,000) 
      PAYE 

 
      (204,000) 

nrYj;jNtz;ba kPjp tup/ (kPsg;ngwntz;ba tup)   
 

           70,169  

   (nkhj;jk;: 20 Gs;spfs;) 
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nghWg;G kWj;jy; mwptpj;jy; - Notice of Disclaimer 
 

,e;j tpilfs; Kw;WKOjhf ,yq;ifg; gl;laf; fzf;fwpQh; epWtfj;jhy; (CA Sri 

Lanka) jug;gl;Ls;sJld;> ,tw;iw khjpup tpilfs; vd;w mbg;gilapNyNa ePh; Vw;Wf; 
nfhs;fpd;wPh;.   

 

,it khjpup tpilfshf fUjg;gl Ntz;LNk jtpu rupahd / vjph;ghh;j;j tpilfshf 
my;y. 
  
,e;j tpilfs; ,uz;L mbg;gil Nehf;fq;fis nfhz;Ls;sd. mitahtd: 
  

1. guPl;ir tpdh xd;wpw;F khjpup tpilf;fhd tpgukhd cjhuzj;ij jUjy;@ 
mj;Jld;  

 

2. ghlj;jpy; khztupd; Muha;r;rp Nkw;nfhs;s mth;fSf;F cjTtJld;> ghlk; 
gw;wpa mth;fspd; mwpT kw;Wk; tpsf;fj;ij mjpfupf;f cjTtjhFk;. 

  
,yq;ifg; gl;laf; fzf;fwpQh; epWtfk; ,e;j khjpup tpilfs; njhlh;gpy; ve;jnthU 
cj;juthjj;ijAk; jutpy;iy Mjypdhy;> ,J njhlh;ghf ve;jnthU JaiuAk; ,e;j 
,yq;ifg; gl;laf; fzf;fwpQh; epWtfj;jpw;F vjpuhf ePh; nfhz;LtUjy; mh;j;jkw;wJ. 
vdpDk;> ePh; ,J njhlh;ghf ,yq;ifg; gl;laf; fzf;fwpQh; epWtfj;jpw;F vjpuhf 
eltbf;if> Nfhupf;if> tof;F> mr;RWj;jy; my;yJ Nfs;tp vjidAk; vOg;gp mjpy; 
ePh; ntw;wpngwhj ,lj;J ,jdhy; epWtfj;jpw;F Vw;gLk; rl;lr; nryTfs; kw;Wk; vjph; 
eltbf;if njhlh;Ggl;l rfy nryTfisAk; ePh; gl;lf; fzf;fwpQh; epWtfj;jpw;F ePh; 
nrYj;j Ntz;Lk;. ,Nj tplaj;jpw;fhf ,yq;ifg; gl;laf; fzf;fwpQh; epWtfk; mjd; 
,e;j cupikiaNah my;yJ ,jpy; tpgupf;fg;gl;Ls;s my;yJ ,yq;ifr; rl;lq;fspd; 
fPohd mjd; cupikfisNah cWjpg;gLj;Jtjw;fhf rl;l eltbf;ifis Nkw;nfhs;s 
fl;lhag;gLj;jg;gbd;> mjw;Fupa rl;lf; fl;lzk; kw;Wk; nryTfis ePh; ,yq;ifg; 
gl;laf; fzf;fwpQh; epWtfj;jpw;F nrYj;j Ntz;Lk;.    

 

© 2013 ,yq;if gl;laf; fzf;fwpQh; epWtfj;jpdhy; (CA =yq;fh).  
KOg; gjpg;GupikAilaJ. ,yq;ifg; gl;laf; fzf;fwpQh; epWtfj;jpd; vOj;J%y 
Kd; mDkjpapd;wp ,e;j Mtzj;jpd; gFjpapid kWgpuRuk; nra;tNjh my;yJ ve;j 
tbtj;jpYk; ,yj;jpudpa> ve;jpu> Gifg;glg; gpujpaply; gjpTnra;jy; kw;Wk; Vida 
Clfq;fspD}lhf mDg;GjNyh $lhJ.  
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